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8 TS x 4Sx -2 300 x 4Sx -1 100 5
9 panyiie] [£3] 3H = 140 1t 4H -1 -50 5
10 | \WHB [£3] 6C -1 -100 1t 3NT +1 630 12
11 | W [£3] 2Sx -1 -100 [£3] 3HXx -1 -100
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5 it x 3NTx | +1 -650 [ri] 3NT = -400 6
6 panyiie] x 3NT +4 -720 x 5C -1 100 13
7 WE=] [£3] 2H = 110 [£3] 2H = 110
8 TS x 4Sx -1 100 x 4Sx -2 300 5
9 ,?ﬁ 1t 4H = 420 1t 3H +1 170 6
10 | \WHB [£3] 3NT +2 660 [£3] 3NT +1 630 1
11 | YW x 3NTX -1 100 x 3C +1 -130 6
12 | Edb x 4H = -420 x 4H -1 50 10
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7 PWE=] [ri] 2S -3 300 [£3] 3H -1 -100 9
8 TS x 3Sx = -530 1t 3NT +1 430 14
9 panyiie] 1t 3H -1 -50 1t 3H +1 170 6
10 | WHB 1t 3NT +1 630 1t 3NT +1 630
11 | W [ri] 3NT +2 -460 x 5C -1 50 11
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